- would be able t :
rch into a hole on nght half of the balI
box as shown below. :\'. (d) He would not see ¢

because the inside of tl

was too dark. o
Joseph used four d.lﬂ'erent OTE
of batteries to light up f{
identical torches. The table |
shows the amount of t1 me
torches stayed lit using t

different brands of batteri ’3‘
Brand )

What can he conclude


































MOCK TEST-4
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T e L 31 | d) | 41 | (o)
5 T @ 2 122 | & [ 32 [ & ] 42 | ©
2 | @ | 1s 21 28T () [ 33 [ @ | 48 | (@
5 (@ | 15 d) | 24 @) [ 34 | () | 44 | (b)
F 6 (b) 1 (b) 25 (d) 35 (a) 45 (a)
7 5 16 k) [ 26 | @ [ 36 | (©) | 46 | (@)
8 (b) : () | 27 | () | 37 | b) | 47 3] @)
9 © 18 | © 38 [ @ [ 38 | (a) |148" [ (@
oo T—a2t ® [ 29 [@ [ 39 | @49 |
D | 20 [ © [ 30 [ ® [ 40 | @X]| 50 | @
”“ - PHYSICS The material that is used for the
1. (b) The inside of the box is dark. ramp’ would d.ete_rmine the
The only light allowed into e surface of the 1nc11n(::'d plane.
box comes f{'om the torch placed Therefore,dthe r;ail:)e;?lll eof;) glle
: ::: lw:z llse ﬁ1: ?)1 dtehoef tll;lz II;OZnL (;glll;: ffz;ll}:l)bll:asfhatnilsuchanged and alji
reflected into our eyes. Since :ﬁe other variables mustbe kept
: - : : e same.
light travels in straight.lines, 4. (d)A > (s): Borrh G S

only the left half ‘that is
illuminated can be seen. The
right half is in«darkness and
does not reflect any light, thus
it cannot be seen.

2. (a) Brand X lasts for longest time.

3. (d)For

experiments and

investigations, besides the
factors or condition to be tested,
all other factor and conditions
must remain the same. In the
above experiment, the objective
is to test if the surface of the
inclined plane affect s the
amount of force needed to move
the object up the inclined plane.

b

10.

5. (a) North pole points towards

geographic north

(b) Since Object X moves towards
the magnet in Richard’s hand,
it means that either Object X is
a magnetic object or B and C are
unlike poles of two different
magnets.

(d) Pressure P =hpg

(b) Water is a good conductor of
electricity

(e) On closing switch ‘C’ and ‘D’ the
circuit becomes closed.

(b) Electronic watch is an modern

day technology



5 wﬂl use material whlch
okt (1S _str._ong and flexible. It 1s
because, a hammock should be
strong enough to take the
weight of person on it and also
| it should be flexible.

16. (b) Wood floats on water, is opaque

‘ and is used to make table, chair
ete.

17. (b) One important propar’ty of the
car windscreen is‘dts-degree of
transparency. ll{@fher words, it
is the ab111 Ey.of the material to

ghtte pass through. We

osee where we are going
when driving. Therefore, the

W@Cheen needs to be

transparent. The windscreen
needs to be strong so that it does
not break easily.

18. (¢) Charkha (spinning wheel) is
used to spin cotton to make
yarn. Handloom and powerloom
are used for weaving yarn to

make fabric.

19, 5:" a 1,

1{['!1 vi

having black 8
climate. ,

23. (¢) Dustand
11v1ng§!3

N

\pd
24. d) QO

25. (d)Winnowing method lsbased
the difference in weight of aa |
A |

component of a mixture. Lighter
component of a mixture can be

»

separated from heavier one le:h
the help of wind. |
26. (d) Oxygen dissolved in ocean is
important for life of aquatic
animals. Cold drinks have
dissolved carbon dioxide init,

27. (b) Evaporation is used toobtaina
solid substance that has
dissolved in water.

28. (a) A(i), B-(iv), C-(iii), D-ii)

29. (d) Metals expands on heating 3*5&
contracts on cooling thatis why
iron rim is usually he
before fixing into the w o
wheel. < X

30. (b) Cotton fibres have less aif




~ are present in submerged
~ plants.
d) Watering in mouth, closing of

4 the eyes are exampl
}, response to stimulus. Bo‘ﬁa

By chick hatching out o a}@gg is

- phenomenon of reproduttion
34 -3(b) Cow and sheep proyvide milk for
us.

parallel venation
roots Due to this
istic features they
better in adverse

5. (a) Grasses h
L Chﬁ’

'- &ue to Iack of balanced diet in
our food. They can be controlled
taking carbohydrate fats,-

rk t;ogether to

«

o _M_zmosa leaves and shuttn]%

armty .of Water and

S o :
?;&mperature conditions.
41. (c) Lion'and tiger are predators.

42, (c)'Biotic components include

living things such as plants,

birds and insects etc. Abiotic
components include non-living
things such as air, water and

soil ete. 2

43. (d) Skin cancer increases if
thickness of ozone layer
decreases.

44. (b)

45. (a) Sweet and fleshy fruits having
bright colour of outer covenng
are preferred by all animals for
their food. So they carry ;
fruits to different places

cause dmpersal of seeds.







